Current Simulation
Time; 8000 ns

& Clock
i Reset
& Load
=l @i dataln(s:0]
&0 dataln[6]
0 datalns)
&M dataln[4]
& dataln[3]
&0 dataln[2]
0 dataln[1]
&0 dataln[0]
= @i 5:1]
&My a]
&4
&l v1(3]
&1
&[]
= @ y2[a01]
&l vz(a)
&l v2(4)
&3
o | Sl
&vzi)
= @ dataout[s 0]
& dataut[g]
& dataQut[s]
&M dataout[4]
& dataOut[3]
& dataout[2]
& datadut[1]
&M dataout[0]

& parity

1] 2000 4000

6000

=18

F'h3o

h10 435 5.0 sh02 5. shod ¥E N sh06 & 5hoB We.% Shoa G0 §h0c 5K ShoE 5. shio [ Eh00
5 ]l
o | |
k& | | | |
[ ] [ 1 [ | || [ ] [ |
sho0 6% &h02 B eho4 E.% shoe 5. shos x5 shoa vE W shoc 5 shoE 6 LY 5'hod
jili
|
| | | |
-+ 1 [ ]
[ | [ ] [ ] il il i ] [ ]
7h Mo TEGC 0 MBE N THD oL TR 0 ThREE 0 TEER 7h30

|| | 8]

A AR ™ o = [ e e <2 5]




